CuenHble MyTbl, UBMEPUTESNbHbIE KPYTN,
MOHTaXHble doNIaHKu

Anmartbl (727)345-47-04
Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroBeleHck (4162)22-76-07
BpsiHck (4832)59-03-52
BnapuBoctok (423)249-28-31
BnapukaBkas (8672)28-90-48
Bnagnumup (4922)49-43-18
Bonrorpapg (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Poccus +7(495)268-04-70

TexHn4yeckne xapakTepUCcTmKkm

Mo Bonpocam npogax 1 nogaepkn odbpallanTecs:

MBaHoBo (4932)77-34-06
WMxeck (3412)26-03-58
WpkyTck (395)279-98-46
KazaHb (843)206-01-48
KanunuHrpapg, (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kvpog (8332)68-02-04
KonomHa (4966)23-41-49
Koctpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Iuneuk (4742)52-20-81

KasaxcraH +(727)345-47-04

Marnutoropck (3519)55-03-13
Mocksa (495)268-04-70

MypmaHck (8152)59-64-93
Hab6epexHble YenHbl (8552)20-53-41
HwxHuin Hosropop (831)429-08-12
HoBoky3HeLk (3843)20-46-81
Hosbpbek (3496)41-32-12
Hosocunbupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
MeTposaBopck (8142)55-98-37
Mckos (8112)59-10-37

Mepmb (342)205-81-47

Benapych +(375)257-127-884

PoctoB-Ha-[JoHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-TNeTepbypr (812)309-46-40
CapatoB (845)249-38-78
CeBacTtononsb (8692)22-31-93
CapaHck (8342)22-96-24
Cumdeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35
CobIkTbiBKap (8212)25-95-17
TamboB (4752)50-40-97

Teepb (4822)63-31-35

Y36ekucran +998(71)205-18-59

an.noyta: hea@nt-rt.ru || cant: https://hohner.nt-rt.ru/

Tonbattn (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
YnaH-Ypas (3012)59-97-51
Yha (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapebl (8352)28-53-07
YensabuHck (351)202-03-61
Yepenosel| (8202)49-02-64
Yura (3022)38-34-83
AkyTck (4112)23-90-97
Apocnaenb (4852)69-52-93

Kupruaua +996(312)96-26-47


mailto:hea@nt-rt.ru
https://hohner.nt-rt.ru/

hohner

Elektrotechnik Werne

Torque supports

Torque supports

Mechanical dimensions

DSN=52,5

DSN=454
DS A=485 2 513 A

48 2y

A3

A91,5 NS57

ik

A86 NS525

®
103

N48  A82
N435 A775

/

A

Installation instructions

In order to compensate axial and radial shaft run-out, as well as any angle set, the rotary encoder flange may not
be rigidly secured. Fix the flange above a stator coupling (e.g. spring sheet) as torque support.

The following flexible fixing plates are available:

DSA  suitable for encoder type HWI 103 Shaft offset max: +/- 2.0 mm axial, +/- 0.15 mm radial

DSN suitable for encoder type HWI 80 Shaft offset max: +/- 0.5 mm axial, +/- 0.3 mm radial

Accessories




hohner

Elektrotechnik Werne

Measuring wheels e Clrrcelrj‘rgge- Material Profile

F Plastic
'( we ) M 101 500 or 10/12 25 Smooth plastic l:\
\ Aluminium

Plastic
M 102 500 or 10/12 25 Ribbed plastic ﬂﬂ"ﬂ"[ﬂ"ﬂ"ﬂmmﬂmm

Aluminium

Measuring Wheels

Plastic TR
M 120 500 or 10712 25  Napped rubber 6°65°5°5°5°55°5°5°
Aluminium

Plastic
M 130 500 or 10/12 25 Knurled aluminium
Aluminium

Plastic
M 140 500 or 10/12 25  Vulkollan plastic
Aluminium

Plastic
M 108 200 or 6/10 12 Smooth plastic
Aluminium
Plastic
M 110 200 or 6/10 12 Knurled aluminium
Aluminium
p Plastic
f‘7, M 190 200 or 6/10 12 Napped rubber
~ Aluminium
Plastic
(= ) M 109 200 or 6/10 12 Ribbed plastic
N Aluminium

Mechanical dimensions

Measuring wheel 500 mm circumference Measuring wheel 200 mm circumference Tolerance
02%-05%

30

2 %54 mit Belag
DEE 25

T
1
I}
1

Accessories




hohner

Elektrotechnik Werne

b
v
Couplings Type Mechanical dimensions x
p 1V
Spri 6 8 e 2
pring 6 10 ¢ o
coupling
8 8 (7))
50 26
K 401 8§ 10 =~
10 10 I e w
10 12 i 26 o - 50 — x
12 12 v
_ 4 5 SR - ey g
Spring 5 5 e ‘o
e Ll . il :L —
5(((&({(# | coving s 5 5 6
7 VLAY 6 6 ‘ A
K402 6 3 . .35 | 125 | m
8 8 =
o
4 4 O _ﬂ
- Bellow g 2 Mi -
\ couplin 2 T } i
& <400 8 8 | | W
10 10
10 12 o
6 6 W25 O3 (20
Spring washer 6 10
coupling 8 8
25 25 10 10
K410 10 12
12 12
Rack Type Width  Height Length

Sprocket Type LG Circumference

R218 16 50,26

Accessories




hohner

Elektrotechnik Werne

Round flange

F 2 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM

@70
@50
#3175
m
|

aing
Round flange
F 3 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM
433
3
-

Round flange

F 4 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM

@58
@50
#3175
m
|

2,5 25

2,5 25

Round flange

Euro flange for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM, AWI 90, AWA 90, PA 02, PH 05, 70-140 and 72

P15
@85
m
|
|

Accessories




hohner

Elektrotechnik Werne

Square flange

F 5 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM

3
-t
Square flange
F 6 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM
e N
A | A
hd | Y
@ @
3 |- - B
O O
_ Y,
Lx@5.5 _10_5.
Square flange
F 7 S for series AWI 40 S
Lx4,5 $if
& ©)
na M18x1 - 6H
ojo [ .
@ ©) ]
Square flange
F 7 E for series AWI 40 E
Lxk,5
161
© ®) -
33 M18x1 - 6H 1]
ao Lo
& ® 17

Accessories




hohner

Elektrotechnik Werne

Angle flange
WEF 1 for series AWI 90, AWA 90, PH 05, PA 02, 72, 70-140

80

53

@1
I T T . T l T + T I t
I | " | | ; I ‘Df
| 22
! 40
Angle flange
WF 2 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM
25
s I\\ '\\ o ﬂ TS
A\, /)7 2
p /\\\G/’/\ Ejzxmk = ,
S—_ " 7
T + T T T 4 T T + T t
80 40
Angle flange
WEF 3 for series AWI 58, AWI 58H, AWA 58, BC 58, PS and PSM g
2

Druckfeder (2x)

o

W2k
g _ ] B ST

k Kunststofflagerbuchsen

95

10

50

@@

Accessories




hohner

Elektrotechnik Werne

Mounting bell

For series AWA 58, AWI 58, AWI 58 H,
BC 58, PS & PSM

The mounting bell MOGL 5038 provides a very

simple and inexpensive installation for all encoders with
a synchro flange. The mounting bell made of fibreglass-
reinforced plastic in injection moulding technology has
a thermally and electrically insulating effect.

Mounting Bell

The encoder is mounted optionally onto the bell with
3 screws M4 x 10 DIN 912 or 3 mounting eccentrics

Technical data

Model MOGL 5038

Material Fortron (PPS) 40% fibreglass-reinforced, black
Temperature range -40°C..+270°C

Weight 549

Net distance (encoder drive) 258 mm

Net outlet (for coupling) @321 mm

Mechanical dimensions

339

25,15 A
yAW;
A NG) 01 s
B (1 —J—‘,
n (10x) —,—l_
S/ n
& < “
2 SERE
“ g
D 8 =
Dsg >
@D,
“
W Wb
& : s

Mounting kit DMSA 2000 for mounting bell

consisting of:

4 x screw M4 x 12 DIN 912

3 x mounting eccentric BEMN 1242 49
3 xscrew M4 x 10 DIN 912

3 x cylinder screw M4 x 35 DIN 84 A2
7 x disc 4.3 DIN 433

3 x hexagon nut M4 DIN 934 A2

Accessories




Anmartbl (727)345-47-04
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroseluyeHck (4162)22-76-07
BpsiHck (4832)59-03-52
BnapusocTok (423)249-28-31
BnapukaBkas (8672)28-90-48
Bnagumup (4922)49-43-18
Bonrorpag (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

Poccus +7(495)268-04-70

Mo Bonpocam npogax n noaaepkm obpawjanTtecs:

MBaHoBo (4932)77-34-06
Wxesck (3412)26-03-58
UpkyTck (395)279-98-46
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHa (4966)23-41-49
Koctpoma (4942)77-07-48
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
JNvneuk (4742)52-20-81

KazaxcTtaH +(727)345-47-04

MarnuTtoropck (3519)55-03-13
Mocksa (495)268-04-70

MypmaHck (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41
HwxHuin Hosropog (831)429-08-12
HoBoky3aHeLk (3843)20-46-81
Honbpbck (3496)41-32-12
HoBocwubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
Mckos. (8112)59-10-37

Mepmb (342)205-81-47

Benapycb +(375)257-127-884

PoctoB-Ha-[oHy (863)308-18-15
PsasaHb (4912)46-61-64

Cawmapa (846)206-03-16
CankT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBacTonornb (8692)22-31-93
CapaHck (8342)22-96-24
Cumdpeponornb (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
CraBpononsb (8652)20-65-13
CypryT (3462)77-98-35
CobikTbiBKap (8212)25-95-17
TamboB (4752)50-40-97

Teepb (4822)63-31-35

Y36ekucran +998(71)205-18-59

an.noyta: hea@nt-rt.ru || cant: https://hohner.nt-rt.ru/

Tonbattn (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
YnaH-Ya3 (3012)59-97-51
Ypa (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Yura (3022)38-34-83
AxyTck (4112)23-90-97
Apocnaenb (4852)69-52-93

Kuprusuma +996(312)96-26-47


mailto:hea@nt-rt.ru
https://hohner.nt-rt.ru/

	Титул
	Без имени




